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MATHEMATICS

Total Questions : 47
Time : 3 Hrs. 15 Minutes |

et % 7@ Few
Instructions to the candidate :
1. SRtErel guUTEwa O weEl | #t IR |
Candidates are required to give their answers in
their own words as far.as practicable.

2. TRE AR T e R o oiw quiw Fiee
& B

Figures in the right hand margin indicate full
marks.

3. ot av afa €1
All questions are compulsory.

4. IAT A WU FUTEVE We-WHT &l
S & |

While answering the candidate should adhere to
the word limit as far as practicable.

5. TH UAYH H WA & o 15 fume @ atfaies
g fean T )

15 minutes of extra time have been allotted for
the candidates to read the questions.
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MATHEMATICS .
! ircles is 4 * 7
o L i If the ratio of arcas of ?ﬂwgllfbe
i Uptlm;’{%r Ca iﬂ gt then the ratio of their ra il s
T (- b 2:
T2 TS i Jl (a) 3 4 :d: none of these.
(%) 3 @ 4 o 5:3
m 3 () 5. 1 201 A Y
Distance between the points ( 2, 3 ) and 2% @) in26
(-2, 3 ) will be () cosec o o 1
(@ 3 (b) 4 g 2 g H) cot”d.
5 )~ tan
€ 3 (d) 5. L()2/ | -
R j‘g, T sgys Q[JC]-':)CE—X-I—‘I- o+ b2l sec’ -1 1s equd 029
o, B &, T o+ HHA @) cosec?0 (b) ,«-,.1;1‘12
(=) -1 vy 4 () tan®® (d) cot”®.
S D o. ! |m-€r,aadaa‘rrrm€rm

T a and B are the zeros of quadratic

polynomial g(x) = x? — x +4, then the value
of « +p will be bsebresult.in

{a) -1 (b) 4
é‘sf:lé?ﬁ}@ﬁ [d}%O. -
HIFA 4 : 9 ST 4T
Ereratl =T T g il
(F) 3:4 (& 2.3
(M 5:3 (@) e a1
2

by:BSEBResult.In

af 1 |
~ /o

3d + 50°
2d + 20°
— N
_(®2 (@) 30
(M) 45° () 80° 1
2 [ Tum over

by:BSEBResult.In



- MATHEMATICS 4 Sl. Code : {813

If I || m, then the value of d will be

/ |

3d + 50°
2d + 20°
/ I
(a) 22° (b) 30°
(c) 45° (d) 80°

6. TRk EFR U @), a9 P(E)+p(E") & TH &

r\—/ (=) 2 ' 1
(m -1 () TR 1

If E is an event, then the value of
P{E}+P(E'J will be

(@) 2 (b) 1

{c) -1 (d) none of these.
2./ 3,4,7,2,7,6,7,9 % TgeH &M

& 2 (®) 3

| M @ 9. L

The mode of 3, 4, 7, 2, 7,6, 7, 9 will be

(a) 2 (b) 3
(c} 7 (d) 9.

(o]
by:BSEBResult.In

S1. Code : m
- 5 MATHEMATICS

SOAP. WM W 2 aw wd sy 38, @
A.P. & 99 1T &1
(%) 2,6,9 @7 s g

M 2,6,10 & 2,5,9. 1
When first term is 2 and common difference

13 3 1 n Al Ll th r a
¥

(@) 2,6,9 (b) 2,5 8
(©) 2,6, 10 (d) 2,5,9

sin% - EDS% T A9 g bsebresult.in

(F) 2 M

(M -1 (= 1. 1

The value of sinﬁ- -~ c:os—-g will be

a) 2 (b) O
() -1 (d) 1.
A L0, T 0 FR Bawvs w1 sEwe g
0
) 3 &
() g <™ (@) 360 %"
3
(m g X nr? () ke nre. 1
2 | Turn over
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Area of sector of angle § will be
0 3 )
(a) TG X (b) 360 X T
B 2 2
(c) 579%™ (d) 36[}:(“]- :

11 g Sgd (3, -4) G oo BN

Distance of P ( 3, -4 ) from the origin will

be i

12)AP.2,5 8 11, & Q& U oo,
S : 1
9th terrn of an AP. 2,15,.8, 11,

T +

13 mﬁ_{;{:mﬁ 2+ ........ )
Class mark = upper 11m1t2+ ...............

14, o 99 & 9w S | 99 W @ wt at e
..... werenrsine. BT B 1

The tangents drawn from any external point
on the given circle are .

15. & gal & #IFA 14 g%a@mﬁ?lw
Brematt &1 A ..o .. BT 1

2

by:BSEBResult.In
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MATHEMATICS

If the ratio of areas of two circles is

E:l : 9, then the ratio of their radii will
e

16. HFqJ_tane 1, ?ﬁe- e 1
Ifftane~1 thene-

--------------------

a@ﬁ%’!ﬁaa +p? = L"f‘i‘?ﬁ'f‘ﬁl’

--------------

If o and B are¢ _the roots of

—

quadratic equation cx®-bx+q= 0, ‘then

o’ +[} e T ~

A8. AR 20 = L ¥, 79 sinG =1l ... 1
If26=2 3 then smB-......:f@{ ......

19, g 71 § Wl fag (4, -5 ) % = = 9w
......... TP BT 1

The value of the ordinate of a point

( 4, =5 } situated in Cartesian plane will
be ... . bsebresult.in

20. U WAR 33 4, 10, 16, 22, 28 & 99
b e I
The common difference of an A.P. 4,10, 16,"
22, 28 will be ..

2 [ Turn over

by:BSEBResult.In



Sl. Code :

9 MATHEMATICS

813

24. U §9Eg B9 ABC & W9 2a €1 3§ Wi

I I <hifeld | 2
The side of equilateral triangle ABC is 2a.
Find the perpendicular distance from

vertex,

L wF o 0¥ TF g9 W TR 1@ W o

24 T T O W FE ¥ g 25 QA &, o I A
foroar 719 & 2
From a point Q the length of tangent to a
circle is 24 cm ‘and distance of Q from
centre is+25 em. Find the radius of the
circle. bsebresult.in

faai (0, 0) 3R (36, 15 ) & &= @B T T
F | 2
Find the distance between points ( 0, O )
and { 36, 15 ).

Jo & OF AE Y, Ak B A(2,3), B(4, k)

T C (6, -3 ) GE Tl 2
I points A (2, 3), B(4,k)and C(6,-3)
are collinear, then find the value of k.

2 [ Tyrn over
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MATHEMATICS

B

29

30.

N Ce

10 §1. Code : 813

o g % Ui e { foraent witiy
22 ¥ € 2
Find the area of quadrant-of a circle whose
circumference is 22 cm.

qmmﬁmmﬁwﬁlzﬂﬁwozﬁ

WWWWWWE’!dH?ﬁMMIs T
2

F
The diameter of a sphere is 6 emy By
melting it a wire of diameter |02 cm 1is

made. Find the length of wire.
2 sin 3A = cos( A=26°), T 3A TH AR
2

& A A % O TE H
If sin3A =cos(A-26°), where 3A is an
acute angle, find the value of A.

AP. 21,18, 15, .. FIEF-W R -1 ? 2
5,..1s=817

Which term of an A.P. 21, 18, 15,
fag &t f6 3+ J5 TF FURTY T € 3

Prove that 3 + Jg is an irrational number.

aj

by:BSEBResult.In
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33.

34.

35

MATHEMATICS

e By @ B EE THET FH
T H

3x -5y =203 x+2y=3. 3
Solve the following pair of linear equations
by substitution method :
3x-5y=20 and x+2y=3. ‘
¥ I ud RS HE: 4 TH 1€ 3
Find the gquadratic equation, whose
sum and product of zeros _are 4 and
1 respectively. bsebresult.in1® . ‘

< el T R 26,8 R TH GEA g Tl
= A T &1 S A Bl 3

The difference of two numbers is 2'6 and
one number is three times of other. Find the

numbers.

36, € TE aFE H LE Wd & SRl LM || FG. 3
E

L M
7-2 / \mﬁtﬁ
F G

2 [ Turm over
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F
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37. wwmﬁémmmﬁ,ﬁﬁ-—gaﬁ(a,?)

- 38.

39.

(4, =3 ) F HEH oo s o - 3 3
U 4 fowfsa swen & 3
F?'nd the coordinate of that point, which
divides the line joining the points =1, 7)
and ( 4, -3 ) in the ratio 2 : 3. bsebresult.in

T TH W HET WO 3 % IW el =
TIiERdr T it | 3
Find the probability of getling a number
greater than digit 3 in the throw of a dice.

A cot0 =~ gl (1+sin0)(1-sin0)
8 (1+cos0)(1-cos0)

T e | 3

2
by:BSEBResult.In
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13 MATHEMATICS
If cotg= 7

{1+sin0)(1-sing)
(1+cos0)(1~cosb)’

40, Tog &y T cot0—cosB _ cosecd -1
cott +cos cosec+1°

value of

Prove that cotd —cosd _ CosecO-1

41, ﬁ?ﬁﬁﬂﬁ%mmw%ﬁaﬁm‘m‘ T FE
Y

L

3
- 11-13 | 13-15 | 15-17
] A 7 6 9
17-19 | 19-21 | 2123 | 2325
13 T 3 3

The mean of given data is 18. Then find the
missing frequency :

Class interval 11-13
No. of children 7

13-15 | 15-17
6 9

17-19 | 19-21 | 21-23 | 23-2
i3 I ) 4

[?. | Turn over
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MATHEMATICS

42, W fHdl i = i 12 U Tgeth 18 &, &

43.

44

45, UF YT e TN a0 TF 50 Mex S99 OFR

14 Bl. Code ;: | B13

IS & W T FE |

3
If median is 12 and mode is 18 of any data,

then find mean of the given data.

B 4 A o uw 99 % Seums w1 s
A, R F 300 ¥ @ g o
FeaEug 1 e ot iR sy | 5
Find the area of sector having 4 cm radius

and 30° angle at the centre of given circle:
Also find the area of corresponding major

~ sector.
TRt fat & & L |
x+2y -4=07 2x+ 4y -12 = 0, S
Solve by graphical method
x+2y -4 =0and 2x+ 4y -12 =0,

TH @ O oW R Rug ) hr % WY R
& W o Hae [ & s = s

30° T 45°%,F1‘Tsfi@rmmﬁﬁémaaﬁs 5

T

21
by:BSEBResult.In
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@Tﬁmﬁ?mﬁ:ﬁ@@w%mm.

AT 0T 30° & @T.Wﬁqﬁ.ﬁgﬁw%

ﬁ@wwﬁwﬁoo%mﬁwmﬁﬁ
, T T e e

A vertical flag rod and a 50 m high tower
are situated at same horizontal ground, The
angles of depression of the top of the tower
from top and foot of the flag rod are 30° and
45‘?’ respectively. Find the, height of the flag
rod, -
OR

The angle of elevation of the top of building

from the foot of a tower is 30° and the angle -
of elevation of the top of tower from the foot

of building is 60°. If the height of tower is
S0 m, then find the height of the building.

wﬁﬂwaﬁﬁw%w a3
3 T el @t T ) fag W ufaeds e 2,
& g See = gAe aom O faafee s §

Tog = i

M>]

. [ Turn over
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MATHEMATICS

THEMATICS 16 S1. Code :
MA

47.

e
In a triangle, & line drawn para}lllel 1?0 SEU
side to intersect the other two s1fies 1}1 o
distinct points, divides the two sides 1D

same ratio. Prove it.

S@ﬁﬁﬁwmw.qa@'ﬁlmﬁ?mw

e B Fd 5

rerat |
5%@6@@@%@%&@%%@@
i <t Bt 1 et @ E HY

Construct a circle of 3 cm radius. 'Colnstruct
an equilateral triangle inside the circie.
OR

Draw a circle inside an equilatergl triaigliz
of sides S cm which touches the sides ©

triangle. Az 91 & sidfaa waht viraredl,

m@g, e U=, vsfde

Uge Ural & fRe...

BSEBResult.In
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